MPE Sample Test

Question 1

For.wc,y>0,\/18.:c3y3 =

a 03x?y?\/2xy

b. O3xy\/xy
c O3xy\V2xy
d O9xy\/2xy

o CoxtyZxy

Question 2

(x3+2x2—2x)—(2x3+2x— 1) =

a 03x3+2x%-1

b. O-x3+2x%+1
c O-x3+2x*-4x-1
d O-x3+2x*-4x+1

e 03x3+2x% - 4x+1

Question 3

In acertain company, 1100 of the employees aremen. What is the
total number of employees if 5 out of every 11 employees are men ?

a. 0484

b. ©12100
c. ©2420
d. ©1320

e. 020




Question 4

One of the factors of 2 x%> +5x + 3 is

a 02x-3

b. OWill not factor.

c. Ox+1
d. O 2 x?
e. Ox-1
Question 5

2

The positive solution of the equation x“ + 5 = 19 lies between

a. O6and7.
b. O4and5.
c. ©O5and6.
d. ©2and 3.
e. O3 and 4.
Question 6

A customer redeemed 25 coupons, some worth 50 ¢ and
some worth 35 ¢, foratotalof $10.10. If xrepresents
the number of 50 ¢ coupons redeemed, which of the
following equations would be used to correctly solve
for x?

a 025 (50 - x) + 25 (35 - x) = 1010
b. ©0.5x + 0.35 (25 - x) = 1010

c. 050 x + 35 (25 - x) = 1010
d 050x + 35 (25 - x) = 10.1
e. ©35x + 50 (25 - x) = 1010




Question 7

(3x3 y) (_xz y3)3 =

a 0-3x° y©

b. O -3 x5 y10

c. 0-3x8y7

d 0-3%x°y°

e. 03 x° yl0
Question 8
2(3-(3-5)) =

a. 022

b. ©10

c. O-2

d O0-10

e. 08

Question 9

Solve6x + 10 > -2 for x.

a Ox=<-2

c. OX€ (-o,w)
d Ox=-2

e. OX>2




Question 10

The length L of aspringis givenby L = 2 F+1,

where F is the applied force. What force Fwill produce a lengthof 15?

Question 11

Ifx +6 =4x +5, thenx = ?

Question 12

Find the y - coordinate of the point on the graph of
8x+4y+1=0withan x - coordinate of 3.

13
a O -—
8

b. O 6
c. O-7
23
d. _==
4
25




Question 13

3x-3(x-4)+ (y-4) =

a O6x+y-16

b. Oy - 16
c. O1l6-y
d Oy + 16
e. Oy +8
Question 14

If6(y -3) =-3(x+ 1), theny = ?

a. Q% (4 -3 x)
b @2
2
5-x
c. —
2
1
d O = (19-3
6( X)
e. ‘:"5“2}’




Question 15

Graph -4y - 3x
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Question 16

What is the complete set of values of x

. . X - 2
that may not be used in the expression —— ?
x2+6x

a. O{-6, 0}
b. O {-6, 6}
c. ©{0}

d O {2}

e. O {-6}
Question 17

Forx>0,VI21x —V25x =

a 0116 /x
b. 0+/6 /x
c. 016+ x
d O-14+/x
e. 06+x
Question 18

3 8

X + 2 x2_4

3x-14
b. | 3

x“ -4

3x+2
C. 2

x“ -4
g 3x-2
' x? -4

3x+14




Question 19

Question 20

2-49
2+ 14x+49

Question 21

If1+% = 8X+5, thenx = ?

o

3

b. O No solution.
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Question 22

4Bx+2y)° =

a. ‘:‘12x2+48xy+8}’2
b. 036 x% + 16 y?

¢ 036x%+48xy - 16 y?
d 036x*-48xy+16 y°

e 036 x%+48xy+16 y?

Question 23

If f(x) = -3x* - 4x + 1, then f (2)

Il
)

a 0-3
b. ©-19
c. ©0-21
d O5

e 02 (-3x*-4x+1)

Question 24

In the solution for the systemof equations {x - 3y =1, x - 2y = 4},
the x - value is ?

a. 02
b -2
c. ©10
14
d O ==
5




Question 25

2x
Ifx=—2andy=3,then).2y3—3—=?
y

69980
a. O -
9

L0112
968
o3

15556
0=

976

e. O ——

9

o




